
Potato diggers for DCS 
DUEDCS-PD

PARTS MANUAL



POTATO DIGGERS ASSEMBLY

No. Product code Description Quantity

1 DUPYX7TD-01000000 connect base 1

2 DUPYX7TD-02000000 support left 1

3 DUPYX7TD-03000000 support left 1

4 DUPYX7TD-04000000 bottom base 1

5 DUPYX7TD-05000000 pin 001 M10X50 1

6 DUPYX7TD-06000000 pin 002 M14X70 3

7 hexagon screw (full thread) M6 1

8 hexagon screw (full thread) M8 2

9 hexagon screw (full thread) M10 1

10 hexagon screw (full thread) M14 1

11 hexagon nut 2X35 1

12 hexagon nut 4

13 hexagon nut 1

14 hexagon nut 1

15 B pin 1


